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ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001.  íkhýuíkh {nkËuð {trËh rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) yk {trËh Mkku÷tfeÞwøk MkkÚku òuzkÞu÷wt Au.

(2) rºkLkuºkuïhLkwt {trËh yu økwsoh «ríknkh þi÷eLku Ëþkoðíkwt íku Mk{ÞLkwt y÷tf]ík yLku rðfrMkík {trËhLkwt WËknhý Au.

(3) ÃkkA¤Úke ÷¾íkhLkk hkò fhýrMktnS îkhk {trËhLke MÚkkÃkíÞ MkwtËhíkk{kt VuhVkh rðLkk íkuLkwt ÃkwLk:rLk{koý fhðk{kt
ykÔÞwt.

(4) íkhýuíkh {trËh yu ºký fwtzÚke ½uhkÞu÷wt Au, rð»ýw fwtz, çkúñ fwtz yLku rþðfwtz

(A) 1, 2, 3 yLku 4 (B) {kºk 2,3 yLku 4

(C) {kºk 3 yLku 4 (D) {kºk 1, 2 yLku 3

002. ËuðLke {kuhe rðþu Lke[uLkk Ãkife õÞwt rðÄkLkku / õÞk rðÄkLkku MkíÞ Au ?

(A) íku W¥kh økwshkík{kt ykðu÷ çkkiæÄ Ãkwhkík¥ðeÞ MÚk¤ Au.

(B) ËuðLke {kuhe MÚk¤{kt yMktÏÞ xuhkfkuxk çkkiæÄ rþÕÃk Mkk{u÷ Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

003. Ãkxku¤k Mkkzeyku rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) Ãkxku¤k ðýfhku yu {nkhk»xÙ hkßÞLkk MkkÕðe ¿kkrík MkkÚku òuzkÞu÷k Au.

(2) MkkÕðeyku 12 {e MkËe{kt økwshkík økÞk níkk.

(3) ðýkx Ãknu÷kt Ëkuhk yLku ðkýk (Weft) Lku htøkðkLke íkfLkefLku rxÙÃk÷ R¬kík fnuðk{kt ykðu Au ?

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) WÃkhLkk Ãkife yufÃký Lknª

004. siLk ÷½wr[ºk ÃkuRLxªøk rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) f÷kfkhku {sçkwík (Strong) htøkkuLkku WÃkÞkuøk fhíkk níkk yLku ÃkuRLxªøMk{ktLke ÔÞrfíkykuLke rðMík]ík ykt¾ku ËþkoððkLkwt
ÃkMktË fhíkk níkk.

(2) f÷kfkhku ÃkuRLxªøMk{kt ÔÞÂõíkykuLku yk¼q»kýkuÚke Mkòðx fhðkLkwt Ãký ÃkMktË fhíkk níkk.

(3) htøkku yu ¾kMk fheLku þkf¼kS, ¾Lkeòu (minerals) yLku MkkuLkk íkÚkk [ktËe{ktÚke Ãký çkLkkððk{kt ykðíkk níkk.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

005. ¾hkurü r÷rÃk rðþu Lke[uLkk Ãkife õÞwt rðÄkLk /  õÞk rðÄkLkku MkíÞ Au ?

(A) íku yuf «k[eLk ¼khíkeÞ r÷rÃk níke su{kt økktÄkhe «kf]ík yLku MktMf]íkLkku WÃkÞkuøk ÚkÞku níkku.

(B) íku {kuxk¼køku s{ýuÚke zkçku ÷¾kÞu÷e níke.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B)  yufÃký Lknª

006. økwshkíke MkkrníÞLkk W{kþtfh òuþe rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) íku{Lke f]rík ‘Nishit - The God of Midnight’ yu fkÔÞ Mktøkún Au.

(2) íku{Lke Lkð÷fÚkk ‘©kðýe {u¤ku’ yu «u{fÚkk Au.

(3) íku{Lke f]rík ‘nðu÷e’  yu Lkkxâ Mktøkún Au.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 2 yLku 3
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007. «Úk{ Ãkqýo ÷tçkkRLke økwshkíke rVÕ{ rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) 1945 {kt hsq ÚkÞu÷e Lkh®Mkn {nuíkk rVÕ{ yu «Úk{ Ãkqýo ÷tçkkRLke økwshkíke rVÕ{ níke.

(2) LkkLkw¼kR ðfe÷ yu yk [÷r[ºkLkk rLkËuoþf níkk.

(3) íku økwshkíkLkk 15 {e MkËeLkk frð yLku Mktík Ãkh ykÄkrhík níke.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 2 yLku 3

008. suLkk fkuíkhu÷k 56 ykÄkhMíkt¼ku, MktøkeíkLkk Mkqhku hsq fhu Au íku «ÏÞkík rðsÞ- rðè÷k {trËh õÞkt ykðu÷wt Au ?

(A) çku÷wh (B) ¼ÿk[÷{

(C) nBÃke (D) ©e htøk{

009. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e Au ?

(A) rð¢{þe÷k rðïrðãk÷Þ  –  W¥kh «Ëuþ (B) nu{fwtz økwYîkhk  –  rn{k[÷ «Ëuþ

(C) WËÞrøkhe økwVkyku  –  {nkhk»xÙ (D) y{hkðíke çkkiæÄ MíkwÃk  –  yktÄú«Ëuþ

010. økúef-¼khíkeÞ f÷k rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) ðkË¤e-¼q¾hk (Bluish Grey) huíkeÞk ÃkÚÚkh (Sand Stone) Lkku WÃkÞkuøk.

(2) çkkiæÄ yLku siLk Ä{o Ãkh ykÄkrhík rð»kÞ ðMíkw.

(3) MkkíkðknLk þkMkfku îkhk yk©Þ ykÃkðk{kt ykÔÞku níkku.

(A) {kºk 1 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) WÃkhLkk Ãkife yufÃký Lknª

011. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?

(A) ðkh÷e ÃkuRLxªøk (Warli Painting)  –  {nkhk»xÙ

(B) Úktøkfk ÃkuRLxªøk (Thangka Painting)  –  rMkr¬{

(C) {tsq»kk ÃkuRLxetøk (Manjusha Painting)  –  rçknkh

(D) f÷{fkhe ÃkuRLxªøk (Kalamakari Painting)  –  fuh¤

012. Lke[uLkk Ãkife õÞku hMk yu Lkð hMkku{ktLkku yuf hMk LkÚke ?

(A) rçk¼íMk (B) yËT¼qík

(C) hkiÿ (D) ÷kðÛÞ

013. Lke[uLkk rðÄkLkku yu .......... MkÕíkLkík þkMkf MkkÚku Mktf¤Þu÷k Au.

(1) íkuýu “Blood and iron” (hõík yLku ÷kun) Lke Lkerík yÃkLkkðe níke.

(2) íku rMksËk yLku ÃkkRçkkuMk (Sijada and Paibos) Lkk Mk{khkunLkku ykøkún hk¾íkku níkku.

(3) íkuýu ÷~fhe rð¼køk (rËðkLku-yu-yÍo)Lkwt ÃkwLkøkoXLk fÞwO yLku su MkirLkf nðu Mkuðk {kxu ÞkuøÞ Lk níkk íku{Lku ÃkuLþLk ykÃke
ËeÄwt.

(A) fwíkçkwÆeLk yiçkf (B) RÕíkw{ehk

(C) çkÕçkLk (D) y÷kWÆeLk ¾e÷S
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014. ÷tzLk{kt ðkŠ»kf Äkuhýu Þkuòíke ònuh MÃkÄkoí{f Ãkheûkk îkhk ÃkMktËøke Ãkk{e ¼khíkeÞ Mkeðe÷ Mkuðk{kt òuzLkkhk «Úk{
¼khíkeÞ ........ níkk.

(A) MkíÞuLÿLkkÚk xkøkkuh (B) MkwhuLÿLkkÚk çkuLkhS

(C) yh®ðËku ½ku»k (D) ËkËk¼kE LkðhkuS

015. «k[eLk ¼khík{kt rðüe yu þwt níkwt ?

(A) MkkuLkkLkk rLk¼kð {kxu yk{ sLkíkk Ãkh ÷økkððk{kt ykðíkku fh.

(B) yuf «fkhLkwt s{eLk yLkwËkLk.

(C) þkne MkiLÞ yLku yrÄfkheykuLke Mkuðk {kxu çk¤sçkhe {sqhe (Forced Labour).

(D) yuf «fkhLke  rðrÄ.

016. Lke[uLkk Ãkife fE çkkçkíku ¼khík{kt ytøkúuS rþûkýLke þYykík fhe ?
(1) Charter Act of 1813
(2) General Committee of Public instruction, 1823

(3) Orientalist («kåÞ) and Anglicist (ytøkq÷eðkËe) Controversy

(A) {kºk 1 yLku 2 (B) {kºk 2

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

017. AuÕ÷k [k÷wõÞ hkòLku .......... îkhk nhkððk{kt ykÔÞk níkk.

(A) W÷w½ ¾kLk (B) ynu{Ë þkn

(C) ½kuhe (D) rVhkuÍ þkn

018. Ãke÷kS økkÞfðkzLkk yLkwøkk{e yu íku{Lkk Ãkwºk .......... çkLÞk

(A) Ëk{kS Ãkun÷k (B) Ëk{kS çkeò

(C) ¾ktzu hkð (D) {Õnkh hkð

019. fkuLkk þkMkLk nuX¤ økwshkík yu {w½÷ ðtþLkku ¼køk çkLÞwt ?

(A) çkkçkh (B) nw{kÞw

(C) yfçkh (D) snktøkeh

020. Ãkrù{ ûkºkÃkkuLkk YÿËk{Lk-Ãknu÷k rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / fÞkt rðÄkLkku MkíÞ Au ?

(1) íku [MíkkLkkLkku Ãkkiºk níkku.

(2) íkuýu fkXeÞkðkz{kt MkwËþoLk ík¤kðLkwt Mk{khfk{ fhkÔÞwt.

(3) ðrþrcÃkwºk MkÃíkfhýe yu íkuLkku s{kE (Son-in-law) níkku.

(4) yøkkW LknkÃkkLkk Lkk íkkçkk nuX¤Lkk {kuxk ¼køkLkk «Ëuþku íkuýu SíkeLku ÃkkAk {u¤ðe ÷eÄk níkk.

(A) {kºk 1, 2 yLku 3 (B) {kºk 2, 3 yLku 4

(C) {kºk 1 yLku 3 (D) 1. 2. 3 yLku 4

021. Lke[uLkk Ãkife fkuýu {kuhçke{kt xu÷eVkuLkef MktËuþkÔÞðnkhLke þYykík fhe ?

(A) fkLÞkS hkðS (Kanyaji Ravaji) (B) òÞkS hkðS (Jayaji Ravaji)

(C) ÷¾ÄehS hkðS (Lakhdhirji Ravaji) (D) ðkÄS hkðS (Wagjhi Ravaji)

022. økwshkík yu .......... Lkk þkMkLk ËhBÞkLk Mkki «Úk{ðkh íkwfkuoLkk þkMkLk nuX¤ ykÔÞwt níkwt.

(A) çkÕçkLk (B) y÷kWÆeLk ¾e÷S

(C) {nt{Ë çkeLk íkw½÷f (D) VeYÍ íkw½÷f
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023. 1857 rðÃ÷ð çkkË rçkúxeþ MkuLkkLkk ÃkwLkøkoXLk çkkçkíku Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) MkiLÞ{kt ÞwhkuÃkeÞLkkuLkwt «ríkþík ½xkzðk{kt ykÔÞwt níkwt.

(2) MkiLÞ{kt swËkswËk swÚkku{kt ¼køk÷k Ãkkzðk {kxu þe¾, økwh¾k suðe fux÷ef òríkyku rçkLk÷zkÞf ònuh fhðk{kt ykðe
níke.

(A) {kºk 1 (B) {kºk 2

(C) {kºk 1 yLku 2 (D) 1 yÚkðk 2 yufÃký Lknª

024. Lke[uLkk Ãkife fR MktMÚkkyku yu ®nË Akuzku [¤ð¤{kt ¼køk ÷eÄku níkku?

(1) ®nË {nkMk¼k          (2) hk»xÙeÞ MðtÞ Mkuðf Mkt½ (RSS)          (3) {wM÷e{ ÷eøk

(A) {kºk 1 (B) {kºk 1 yLku 2

(C) {kºk 2 y™u 3 (D) WÃkhLkk Ãkife yufÃký Lknª

025. Lke[uLkk Ãkife õÞwt rðxk{eLk yu Äkíkw ykÞLk (Metal ion) Ähkðu Au ?

(A) rðxkr{Lk - A (B) rðxkr{Lk - B12

(C) rðxkr{Lk - B6 (D) heçkkuV÷uðeLk

026. Lke[uLkk Ãkife õÞku hkuøk yu ðkÞhMk (rð»kkýw) îkhk Úkíkku LkÚke ?

(A) hkLke¾uík (Newcastle) hkuøk (B) Blue tongue
(C) Babesiosis (D) Marek’s Disease

027. ðkÞhMk (rð»kkýw)Úke Mkt¢r{ík ÚkÞu÷k þhehLkk fku»kku .......... Lkk{Lkk «kuxeLkLkwt WíÃkkËLk fhu Au.
(A) Interferon (B) Properdin
(C) Gamma Globulin (D) Hybridoma

028. ø÷kÞfkusLk yu ½ýeðkh .......... íkhefu yku¤¾kÞ Au.

(A) «kýes Mxk[o (B) yuf ytík:Mºkkð

(C) Alginic acid (yuÕSLkef yurMkz) (D) MkuÕÞw÷kuÍ

029. Lke[uLkk Ãkife õÞk økúnLku íkuLke ykMkÃkkMk ðkíkkðhý LkÚke ?

(A) çkwÄ (B) {tøk¤

(C) ÞwhuLkMk (D) LkuÃ[wLk

030. Mkk{kLÞ heíku, ÃkËkÚkkuo fu su {kLkð þheh íktºk h[Lkk{kt hkuøk Mkk{u ÷zu Au íku .......... íkhefu yku¤¾kÞ Au.
(A) Deoxyribonucleic acids (B) Antigens

(C) Enzymes (WíMku[fku) (D) Antibodies

031. hu£eshuxh{kt hu£eshLx íkhefu ðÃkhkíkwt «ðkne .......... nkuÞ Au.

(A) «ðkne fkçkoLkzkÞkuõMkkEz (B) «ðkne LkkExÙkusLk

(C) «ðkne yu{kurLkÞk (D) Mkqfku çkhV

032. ðíko{kLk Mk{ÞLke xufLkku÷kuS{kt Lke[uLkk Ãkife õÞwt yu {kuxk íkusMðeÃkýk (Large Luminious) MkkÚkuLkwt MkkiÚke ðÄw fkÞoûk{
økýkÞ Au ?

(A) Mercury Vapour Lights
(B) Fluorescent bulbs

(C) High Pressure Sodium based bulbs (ô[k Ëçkkýðk¤k MkkuzeÞ{ ykÄkrhík çkÕçk)
(D) LED lights
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033. ðíko{kLk Mk{ÞLke xufLkku÷kuS{kt rðÄwík {kuxh yu .......... Úke fkÞohík nkuÞ Au?

(A) {kºk AC Power Úke (B) {kºk DC Power Úke

(C) íku AC fu DC Power îkhk fkÞohík hne þfu (D) WÃkhLkk Ãkife yufÃký Lknª

034. GAGAN WÃkøkún MktþkuÄf fkÞo¢{ yu .......... «fkhLkk ÷k¼ yÃkkðþu.
(1) Geodynamics
(2) Geographic Data Collection

(3) Location based Services
(4) Navigation and Safety Enhancement

(A) {kºk 1 yLku 2 (B) {kºk 3 yLku 4

(C) {kºk 1 yLku 3 (D) 1, 2, 3 yLku 4

035. fuLÿeÞ Lk{f yLku ËrhÞkE hkMkkÞrýf MktþkuÄLk MktMÚkk (Central Salt and Marine Chemicals Research
Institute) yu økwshkík{kt .......... ¾kíku ÂMÚkík Au.

(A) økktÄeLkøkh (B) ¼kðLkøkh

(C) ò{Lkøkh (D) hksfkux

036. Lke[u ykÃku÷ s¤[h EfkuMkeMx{ (ÃkÞkoðhý «ýk÷e) Ãkife fkuLke [kuÏ¾e «kÚkr{f WíÃkkËfíkk MkkiÚke ðÄw Au ?

(A) ¾wÕ÷k Mk{wÿku (Open Oceans) (B) ¾tzeÞ Aks÷e (Continental Shelt)

(C) LkËeLkk {w¾ ykøk¤Lke ¾kze (Estuaries) (D) «ðknku (Streams)

037. økwshkík rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) økwshkík{kt ûkuºkV¤Lke árüyu fåA yu MkkiÚke {kuxku rsÕ÷ku Au.

(2) økwshkík{kt ûkuºkV¤Lke árüyu MkkiÚke LkkLkku rsÕ÷ku zktøk Au.

(3) økwshkík{kt Mkwhík yu MkkiÚke ðÄw ðMíke Ähkðíkku rsÕ÷ku Au.

(4) økwshkík{kt y{ËkðkË yu MkkiÚke ðÄw ðMíke øke[íkk Ähkðíkku rsÕ÷ku Au.

(A) 1, 2, 3 yLku 4 (B) {kºk 1 yLku 2

(C) {kºk 1, 2 yLku 3 (D) {kºk 2, 3 yLku 4

038. økwshkík rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au?

(1) MkkçkhfktXk , çkLkkMkfktXk yLku ¼Y[ yu ykrËòrík rsÕ÷kyku  Au.

(2) fw÷ 14 rsÕ÷kyku ykrËòrík rsÕ÷kyku íkhefu MkwrLkrùík fhðk{kt ykÔÞk Au.

(3) økwshkík{kt ykrËòrík ðMíke ykþhu 85-90 ÷k¾ sux÷e Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

039. økwshkík{kt LkËeyku rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au?

(1) Mkkçkh{íke LkËeLke økwshkík{kt ÷tçkkE 323 rf.{e. Au.

(2) Lk{oËk LkËeLkk ðnuýLke økwshkík{kt ÷tçkkE 161 rf.{e. Au.

(3) íkkÃke LkËeLkk ðnuýLke økwshkík{kt ÷tçkkE 322 rf.{e. Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 2

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight



APD - MASTER ] 6 [ Contd.

040. økwshkíkLke Ãkðoík{k¤kyku rðþu Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(A) yhðÕ÷eLke Ãkðoík{k¤k økwshkík{kt ykçkw ¾kíkuÚke þY ÚkkÞ Au yLku ðktfe[qfe ykøk¤ ðÄe ÃkkðkøkZ ¾kíku ®ðæÞ
Ãkðoík{k¤k{kt Mk{kE òÞ Au.

(B) yhðÕ÷eLke ykhkMkwh þk¾k yu Ëktíkk, ¾uzçkú{k, Rzh yLku þk{¤kSLke rËþk íkhV òÞ Au yLku ®ðæÞ MkkÚku òuzkE
òÞ Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª.

041. ¼khík{kt ÄhíkeftÃkLkk ûkuºkku çkkçkíku Lke[uLkk Ãkife õÞwt rðÄkLk / õÞk rðÄkLkku MkíÞ Au ?

(1) Mk{økú W¥kh ÃkqðeoÞ ¼khík íkÚkk økwshkík{kt fåALkwt hý yu ÄhíkeftÃkLkk ÍkuLk-5 {kt ykðu Au.

(2) økwshkíkLkwt fkfhkÃkkh yu ÄhíkeftÃkLkk ÍkuLk-3 {kt ykðu Au.

(3) Mkwhík yLku y{ËkðkË þnuhku yu ÄhíkeftÃkLkk ÍkuLk-4 {kt ykðu Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

042. Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

        ÞkËe-I                   ÞkËe-II

1.  Mkkçkh{íke a.  ðkõ÷, nhýkð yLku ðkºkf

2.  Lk{oËk b.  ykuhMktøk, fhsý

3.  {ne c.  ¼kËh, ÃkkLk{

4.  íkkÃke d.  ðuh
(A) 1 - a,  2 - b,  3 - c,  4 - d (B) 1 - b,  2 - c,  3 - d,  4 - a
(C) 1 - c,  2 - d,  3 - a,  4 - b (D) 1 - d,  2 - a,  3 - c,  4 - b

043. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?

(A) hkíke yLku Ãke¤e {kxe  –  LkkExÙkusLk, VkuMVhMk yLku MkuLÿeÞ ÃkËkÚkkuoLkku Lkçk¤w «{ký.

(B) ÷uxuhkRx {kxe  –  çktÄkhý{kt huíkk¤ íkÚkk ûkkh «f]rík.

(C) þw»f {kxe  –  þw»f {kxe yu MkuLÿeÞ ÃkËkÚkkuo íkÚkk fkçkorLkf íkíðkuLkwt Lkçk¤w «{ký Ähkðu Au.

(D) WÃkhLkk Ãkife yufÃký Lknª

044. Lke[u Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) ®MkÄw yu ¼khík{kt rn{k÷ÞLke LkËeyku{kt MkkiÚke ðÄw Ãkrù{ íkhV ykðu÷e Au.

(2) ®MkÄw yu ríkçkux ûkuºk{kt çkku¾h [q LkSf ykðu÷e rn{ LkËe (Glacier){ktÚke WËT¼ðu Au.

(3) øktøkk yu økki{w¾ ÃkkMku ykðu÷e øktøkkuºke rn{ LkËe (Glacier){ktÚke WËT¼ðu Au.

(4) çkúñÃkwºkk yu fi÷kMk Ãkðoík{k¤k{kt ykðu÷e [u{ Þwtøk Vwtøk rn{ LkËe (Glacier){ktÚke WËT¼ðu Au.

(A) 1, 2, 3 yLku 4 (B) {kºk 2, 3 yLku 4

(C) {kºk 1, 3 yLku 4 (D) {kºk 1, 2 yLku 3

045. “Mkq{ko ¾eý”yu .......... {kxu òýeíke Au.

(A) hçkhLkk WíÃkkËLk (B) fkuVeLkk WíÃkkËLk

(C) [k Lkk WíÃkkËLk (D) þýLkk WíÃkkËLk
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046. ¼khík{kt ykðu÷ Lke[uLkk Ãkife fÞwt MÚk¤ yu õÞkhuÞ MkqÞoLkk ÷tçkYÃk rfhýku (Vertical) «kÃík fhíkwt LkÚke ?

(A) [tËeøkZ (B) {wtçkE

(C) [uLLkkE (D) rÚkYðLkLÚkÃkwh{

047. {k¤ðkLkk Wå[ «Ëuþ{kt Lke[uLkk Ãkife fÞk «fkhLke {kxe òuðk {¤u Au ?

(A) Laterite soil (B) ÷k÷ {kxe

(C) fk¤e {kxe (D) WÃkhLkk Ãkife yufÃký Lknª

048. Akuxk LkkøkÃkwhLkk Wå[ «Ëuþ{kt fÞk «fkhLkk ¾zfku òuðk {¤u Au ?

(A) yÂøLkf]ík ¾zfku (B) fktÃkLkk (s¤f]ík) ¾zfku

(C) rðf]ík ¾zfku (D) ÷kðkLkk ¾zfku

049. çktÄkhý{kt MkwÄkhkLke ÃkØríkyu Lke[uLkk Ãkife fÞk hk»xÙ{ktÚke ÷uðk{kt ykðe Au ?
(A) USA (B) UK

(C) ykuMxÙu÷eÞk (D) Ërûký ykr£fk

050. ¼khíkLkk çktÄkhýLkk yk{w¾ yLkwMkkh, ¼khíkLkk LkkøkrhfLku Lke[uLkk Ãkife fÞk «fkhLke MðíktºkíkkLku Mkwhrûkík hk¾ðkLkwt
ð[Lk ykÃkðk{kt ykÔÞwt Au ?

(1) rð[khLke Mðíktºkíkk (Liberty of thought)

(2) rðïkMk (Faith) íkÚkk WÃkkMkLkkLke Mðíktºkíkk (Liberty of faith and worship)

(3) yr¼ÔÞÂõíkLke Mðíktºkíkk (Liberty of expression)

(4) ykMÚkkLke Mðíktºkíkk (Liberty of belief)

(A) {kºk 1 yLku 2 (B) {kºk 1 yLku 3

(C) {kºk 2 yLku 4 (D) 1, 2, 3 yLku 4

051. hk»xÙÃkrík/hkßÞÃkk÷ku {kxuLke fkÞËkfeÞ fkÞoðkneÚke ÔÞÂõíkøkík «ríkhûkk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?

(A) yËk÷ík yu hkßÞLkk ðzkLku fkuE Ãký «fkhLke Vhs (Duty) rLk¼kððk {kxu Vhs (Compel) Ãkkze þfu Lknª.

(B) ÃkkuíkkLke Vhs Ãkk÷Lk {kxu hkßÞLkk ðzkyu fkuE yËk÷íkLku sðkçkËkh LkÚke.

(C) hkßÞLkk ðzkLku sðkçkËkh Xuhððk {kxu LkkuxeMk òhe fhðk çkkçkíku yËk÷íkLku «ríkçktÄ Au.

(D) ÔÞÂõíkøkík «ríkhûkk yu fkuE ÔÞÂõíkLku hkßÞLkk ðzkLke fkÞoðkneLku fkÞËkLke yËk÷ík{kt Ãkzfkhðk {kxu «ríkçktrÄík fhu Au.

052. òu fkuE ÔÞÂõík yu .......... ð»koLke ô{h Ãkqýo fhe nkuÞ, íkku íkuLke Ãkt[kÞíkLkk MkÇÞ íkhefu ÃkMktËøke fhe þfkÞ Au.

(A) 18 ð»ko (B) 21 ð»ko

(C) 25 ð»ko (D) 30 ð»ko

053. ¼khíkLkk çktÄkhýLkk yLkwåAuË 343 yu rnLËeLku .......... íkhefu ½kur»kík fhu Au.

(A) hk»xÙ ¼k»kk (National language)

(B) hkßÞ ¼k»kk (State language)

(C) Mkt½Lke Mk¥kkðkh ¼k»kk (Official language of the Union)

(D) Mkt½Lke ðneðxe ¼k»kk (Administrative language of the Union)

054. ¼khíkeÞ çktÄkhýLkk .......... {k ¼køk{kt Mkt½ yLku hkßÞku ðå[uLkk MktçktÄku ðýoLk fhðk{kt ykÔÞk Au.
(A) X (B) XI
(C) XII (D) IV
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055. rçkúxeþ Þwøk ËhBÞkLk fÞk yrÄrLkÞ{ ytíkøkoík ¼khík{kt MktMkËeÞ «ýk÷eLke þYykík ÚkE ?

(A) Charter Act, 1853 (B) Indian Councils Act, 1861

(C) Government of India Act, 1919 (D) New Constitution of India (¼khíkLkwt Lkðwt çktÄkhý)

056. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(1) Mºkeyku yLku ÃkwY»kkuLku Mk{kLk fkÞo {kxu Mk{kLk ðuíkLk {kxu «kuíMkkrník fhu íkuðe fkuE òuøkðkE ¼khíkLkk çktÄkhý{kt
LkÚke.

(2) çktÄkhý ÃkAkík ðøkkuoLku ÔÞkÏÞkrÞík fhíkwt LkÚke.

(A) {kºk 1 (B) {kºk 2

(C) 1 íkÚkk 2 çktLku (D) 1 yÚkðk 2 yufÃký Lknª

057. Lke[uLkk Ãkife fÞku ¾hzku yu çktLku øk]nku yLku MktMkË{kt ÃkMkkh Úkðk {kxu rðþu»k çknw{íkLke sYheÞkík Ähkðu Au ?

(A) Finance Bill (rð¥keÞ ¾hzku)

(B) Money Bill (Lkkýk ¾hzku)

(C) Ordinary Bill (Mkk{kLÞ ¾hzku)

(D) Constitution Amendment Bill (çktÄkhý MkwÄkhýk ¾hzku)

058. 42 {k MkwÄkhýk yrÄrLkÞ{, 1976 îkhk ¼khíkLkk çktÄkhýLkk yk{w¾{kt Lke[uLkk Ãkife fÞku þçË W{uhðk{kt ykÔÞku Lk
níkku ?

(A) y¾trzíkíkk (B) Mk{ksðkËe

(C) rçkLk Mkkt«ËkrÞf (D) WÃkhLkk Ãkife yufÃký Lknª

059. hkßÞLkeríkLkk {køkoËþof rMkØktíkku ytíkøkoíkLkk Lke[uLkk ÃkifeLkk fÞk yLkwåAuËLku 86{k çktÄkhýeÞ (MkwÄkhk) yrÄrLkÞ{
2002 îkhk {q¤¼qík nf-rþûkýLkk nf íkhefu YÃkktíkrhík fhðk{kt ykÔÞku ?

(A) yLkwåAuË 51 (B) yLkwåAuË 49

(C) yLkwåAuË 45 (D) yLkwåAuË 44

060. ¼khíkLke ‘Look East Policy’ yu .......... Ëuþku MkkÚku økkZ ykŠÚkf yLku ÔÞqnkí{f MktçktÄku rðfMkkððkLkk «ÞkMkku YÃk Au.

(A) ykr£fk (B) Ërûký Ãkqðo yurþÞk

(C) ÞwhkuÃk (D) ÷uxeLk y{urhfk

061. ¼khík{kt MkwíkhkW fkÃkzLkk Wãkuøk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) íku Wãkuøk «¼kð ½xe hnu÷ku Wãkuøk Au.

(B) Mkki «Úk{ ykÄwrLkf MkwíkhkW fkÃkz {e÷ 1854{kt Mkwhík ¾kíku MÚkÃkkE níke.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

062. Lke[uLkk Ãkife fE Mkr{rík yu (Corporate Governance) Lku ÷økíke LkÚke ?

(A) T.S.R. Mkwçkú{LkeÞ{ Mkr{rík (B) Lkhuþ[tÿ Mkr{rík

(C) LkkhkÞý {qŠÚk Mkr{rík (D) WËÞ fkuxf Mkr{rík

063. ¼rð»ÞrLkÄe íku{s LkkLke çk[ík nuX¤ yufrºkík ÚkÞu÷k ¼tzku¤ yu MkhfkhLkk fÞk ¼tzku¤Lkku ¼køk Au ?

(A) ykfÂM{f ¼tzku¤ (Contigency fund) (B) yufrºkík ¼tzku¤ (Consolidated fund)

(C) yLkk{ík ¼tzku¤ (Reserve fund) (D) ònuh rnMkkçk ¼tzku¤ (Public Account fund)
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064. ðMíke rð»kÞf Mkt¢{ýLkk rMkØktík{kt ytrík{ íkçk¬ku .......... Au.

(A) sL{ Ëh ðÄu Au, {]íÞw Ëh Ãký ðÄu Au. (B) sL{ Ëh ðÄu Au, ßÞkhu {]íÞw Ëh ½xu Au.

(C) sL{ Ëh íkÚkk {]íÞw Ëh çktLku ½xu Au. (D) WÃkhLkk Ãkife yufÃký Lknª.

065. ¼khík{kt ykÞkusLk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) [kuÚke Ãkt[ð»keoÞ ÞkusLkk{kt ykiãkurøkfhýLke ÔÞqn h[LkkLkk ¼køkYÃku ykÞkík yðuSLkku ÏÞk÷ Ëk¾÷ fhðk{kt ykÔÞku.

(B) 11{e Ãkt[ð»keoÞ ÞkusLkkyu Mk{krðü ð]rØLkwt MÃkü rLkYÃký fÞwO.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

066. Lke[uLkk Ãkife fE çkkçkík yu ¼khíkLke LkkýktfeÞ Lkerík (Fiscal Policy) Lkku {wÏÞ nuíkw LkÚke ?

(A) yÚkoíktºk{kt «ðkneíkk ðÄkhðe (B) ¼kð ÂMÚkhíkkLku «kuíMkknLk

(C) ykðf yLku MktÃkr¥k{kt yMk{kLkíkk LÞqLkík{ fhðe (D) hkusøkkhLke íkfkuLku «kuíMkknLk ykÃkðwt

067. 12{e Ãkt[ð»keoÞ ÞkusLkk .......... Ãkh æÞkLk fuLÿeík fhðkLke níke.

(A) ÍzÃke yLku xfkW rðfkMk (B) ÍzÃke, ðÄw Mk{krðü yLku xfkW rðfkMk

(C) Mk{krðü yLku xfkW rðfkMk (D) xfkW rðfkMk

068. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) hkßÞ Mkhfkhu 2009{kt økwýkuíMkð fkÞo¢{ þY fÞkuo.

(B) «kÚkr{f rð¼køk (Äkuhý I - V) {kt zÙkuÃk ykWx (yÄðå[uÚke yÇÞkMk Akuze ËuLkkh) Ëh yu 1999-2000{kt 22.30
«ríkþík níkku íku{kt LkkUÄÃkkºk ½xkzku ÚkELku 2018-19{kt íku 1.40 «ríkþík ÚkÞu÷ Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

069. ykrËòrík rðãkÚkeoLkeykuLkk {kíkk-rÃkíkkLku yLkksLke ÞkusLkkyu .......... íkhefu yku¤¾kÞ Au.

(A) yLLk rºkðuýe (B) ðLk ¼kusLk

(C) ðLk çktÄw ¼kusLk (D) ðLk yLLk çktÄw çkkr÷fk ÞkusLkk

070. Ãkrù{ ûkuºk{kt MðåA Mkðuoûký økúk{eý (SSG) {kt økwshkík «Úk{ ¢{u ykðu÷ Au. økwshkíkLkk .......... rsÕ÷kLku Ãkrù{
ûkuºk{kt «Úk{ ¢{ yuLkkÞík fhðk{kt ykÔÞku.

(A) Ãkt[{nk÷ (B) Ãkkxý

(C) Mkwhík (D) ËknkuË

071. ðMíke økýíkhe 2011 yLkwMkkh, økwshkík{kt yLkwMkqr[ík òríkLkku Mkkûkhíkk Ëh yu .......... Au.
(A) 76% (B) 79.2%
(C) 69.8% (D) 81%

072. ðMíke økýíkhe 2011 yLkwMkkh, økwshkík{kt økúk{eý ðMíkeLkku «ríkþík .......... Au yLku íku hk»xÙeÞ «ríkþík fhíkkt .......... Au.

(A) 57.4% yLku Lke[ku (B) 67% yLku Ÿ[ku

(C) 57.4% yLku Ÿ[ku (D) 67% yLku Lke[ku

073. «ÄkLk{tºke LkhuLÿ {kuËeyu .......... Lkwt MkþÂõíkfhý fhðk (CHAMPIONS) Ãkkuxo÷Lkku ykht¼ fÞkuo Au.

(A) h{íkðehku (B) zkuõxhku

(C) MSME (D) WÃkhLkk Ãkife yufÃký Lknª
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074. RBI yu çkUfLkk CEO’s, Ãkqýo Mk{ÞLkk rzhufxhkuLke WÃk÷e ðÞ {ÞkoËk .......... MkwrLkrùík fhe Au.

(A) 70 ð»ko (B) 65 ð»ko

(C) 60 ð»ko (D) 75 ð»ko

075. UN World Investment Report, 2020 yLkwMkkh, 2019{kt ¼khík yu .......... ¢{Lkku MkkiÚke {kuxku FDI «kÃík fíkko
Au.

(A) 5th (B) 6th

(C) 8th (D) 9th

076. ¼khíkLke .......... MktMÚkkyu (UNICEF) MkkÚku ykuAe ykðfLkk ËuþkuLku LÞq{kurLkÞkLke hMke Ãkqhe Ãkkzðk {kxu ÃkqhðXk fhkh
fÞkuo Au.

(A) Bharat Biotech (B) Biocon

(C) Serum (D) National Virology Institute

077. EPFO yLkwMkkh, ¼khík{kt 2018-19Lke Mkh¾k{ýeyu 2019-20{kt ykiÃk[krhf Lkkufhe{kt ..........% Lkku ðÄkhku ÚkÞku Au.

(A) 12% (B) 28.1%

(C) 32% (D) ½xkzku

078. MktÞwõík hk»xÙ Mkwhûkk Ãkrh»kË (United Nations Security Council) (UNSC) Lkk rçkLk fkÞ{e MkËMÞ íkhefu çku ð»ko
{kxu ¼khíkLke ÃkMktËøke ÚkE Au. ¼khík MkkÚku ÃkMktË ÚkÞu÷k yLÞ Ëuþku .......... Au.

(A) {uõMkefku, ykÞ÷uoLz, fuLÞk yLku Lkkuðuo (B) {÷urþÞk, ÞwøkkLzk, s{oLke yLku ðuLkuÍwyu÷k

(C) ELzkuLkurþÞk, Ërûký ykr£fk, LkuÄh÷uLz yLku MÃkuLk (D) ftçkkuzeÞk, xkLÍkrLkÞk, Exk÷e yLku çkúkÍe÷

079. UNHCR yLkwMkkh, 2019Lkk ytík MkwÄe{kt rðïLkk .......... «ríkþík ðMíke yu çk¤sçkhe Ãkqðof ðirïf Míkhu rðMíkkrhík
ÚkE Au.

(A) 4% (B) 3%

(C) 1% (D) 2%

080. ¼khík TB ynuðk÷ 2020 yLkwMkkh, ¼khíkLkk .......... hkßÞ yu TB LkkçkqËe{kt ©uc «ËþoLk fhíkk hkßÞku{kt xku[Lkwt
MÚkkLk {u¤ÔÞwt Au.

(A) yktÄú «Ëuþ (B) {nkhk»xÙ

(C) økwshkík (D) rËÕne

081. Lke[uLkk Ãkife fÞk Ëuþ{kt íkksuíkh{kt rððufkLktË Þkuøk rðï rðãk÷ÞLke MÚkkÃkLkk fhðk{kt ykðe ?

(A) UK (B) £ktMk

(C) òÃkkLk (D) WÃkhLkk Ãkife yufÃký Lknª

082. MðeMk LkuþLk÷ çkUfLkk ynuðk÷ yLkwMkkh, MðeMk çkUf{kt Lkkýk s{k fhkððkLke çkkçkík{kt ¼khík .......... ¢{u ykðu Au.

(A) 43{k (B) 57{k

(C) 77{k (D) 103{k

083. ¼khíkeÞ nðkE Ë¤u íkuLkk .......... ¾kíkuLkk nðkE Ë¤ MxuþLku LCA íkusMk MkkÚku Mkss yuðk Scond Squadron
‘Flying Bullets’ Lku fk{økehe fhíkku (Operated) fÞkuo Au.

(A) fkuEBçkíkqh, íkr{÷Lkkzw (B) ¼xeLzk, Ãktòçk

(C) rfLLkqh, rn{k[÷ «Ëuþ (D) ExkLkøkh, yYýk[÷ «Ëuþ
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084. ¼khík MkhfkhLkk øk]n íkÚkk þnuhe çkkçkíkkuLkk {tºkk÷Þu Garbage (f[hk) {wõík þnuhkuLkk Mxkh huxªøkLke ½ku»kýk fhe Au.
su{kt økwshkíkLkk .......... þnuhkuyu 5 Mxkh hUf {u¤ÔÞku Au.

(A) y{ËkðkË yLku LkðMkkhe (B) ¼kðLkøkh yLku ðzkuËhk

(C) ðzkuËhk yLku ò{Lkøkh (D) hksfkux yLku Mkwhík

085. [khÄk{ Lku òuzðk {kxu çkkuzoh hkuz ykuøkuoLkkEÍuþLk yu W¥khk¾tzLkk .......... þnuhLke Lke[u 440 {exhLke xLk÷Lkwt rLk{koý
fÞwO Au.

(A) ËnuhkËqLk (B) [Bçkq

(C) Yhfe (D) WÃkhLkk Ãkife yufÃký Lknª

086. yuf fwxwtƒ{kt ƒu …wY»kku, ºký Mºkeyku y™u ºký ƒk¤fku Au. …wY»kku™e ‚huhkþ ô{h 70 ð»ko, Mºkeyku™e ‚huhkþ ô{h 35
ð»ko y™u ƒk¤fku™e ‚huhkþ ô{h 11/3 ð»ko Au, Œku Œu fwxwtƒ™e ‚huhkþ ô{h fux÷e Úkþu ?

(A) 31 ð»ko (B) 32 ð»ko

(C) 32.5 ð»ko (D) WÃkhLkk Ãkife yufÃký Lknª

087. hkun™ y™u {kun™ yuf fk{ yuf ‚kÚku 12 rËð‚{kt …qýo fhe þfu Au. òu hkun™ yuf÷ku Œu fk{ 20 rËð‚{kt fhe þfu Œku
{kun™ yuf÷ku Œu fk{ fux÷k rËð‚{kt fhe þfþu ?

(A) 16 rËð‚ (B) 18 rËð‚

(C) 30 rËð‚ (D) WÃkhLkk Ãkife yufÃký Lknª

088. yuf Vkuxku„úkV{kt™e ÔÞrõŒ ŒhV òuE P yu fÌkwt, “Œu ÔÞrõŒ™k r…Œk, {khk r…Œk™k …wºk Au”. Œku Œu Vkuxku„úkV{kt™e ÔÞrõŒ
fkuý Au ?

(A) P ™ku ¼kE (B) P …kuŒu

(C) P ™k fkfk (D) WÃkhLkk Ãkife yufÃký Lknª

089. yuf …k‚ku VUfðk{kt ykðu Œku Œu™k …h 4 fhŒk ykuAe ‚tÏÞk ykðu Œu™e ‚t¼kð™k fux÷e?

(A) 1/3 (B) 1/2

(C) 2/3 (D) 3/4

090. ™e[u …ife fÞku y…qýkOf 3/5 fhŒkt {kuxku y™u 6/7 fhŒkt ™k™ku Au?

(A) 1/3 (B) 1/2

(C) 2/3 (D) WÃkhLkk Ãkife yufÃký Lknª

091. yuf 216 {exh ÷ktƒe xÙu™ 100 rf{e/f÷kf™e Íz…u „rŒ fhu Au. Œu ‚k{uÚke ykðŒe 224 {exh ÷ktƒe xÙu™™u 12 ‚uftz{kt
…‚kh fhu Au. Œku ƒeS xÙu™™e Íz… fux÷e nþu ?

(A) 32 rf{e/f÷kf (B) 36 rf{e/f÷kf

(C) 40 rf{e/f÷kf (D) WÃkhLkk Ãkife yufÃký Lknª

092. òu P ™k 12% yu Q ™k 6% sux÷k nkuÞ Œku Q ™k 16% yu P ™k fux÷k % nþu?

(A) 8% (B) 12%

(C) 32% (D) WÃkhLkk Ãkife yufÃký Lknª

093. yuf ÔÞrõŒ yuf [kuh‚ ¾uŒh™e rðfýo ÷tƒkE™u, 5 rf{e/f÷kf™e Íz…u [k÷u Œku 3 r{r™x{kt fk…e þfu Au. Œku Œu [kuh‚
¾uŒh™wt ûkuºkV¤ fux÷wt nþu ?

(A) 62500 [ku.{e. (B) 50000 [ku.{e.

(C) 45000 [ku.{e. (D) WÃkhLkk Ãkife yufÃký Lknª
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094. r™Ëuoþ: Lke[u ƒu rðÄk™ku y™u ƒu r™»f»kkuo yk…ðk{kt ykðu÷ Au. yk…u÷k rðÄk™ku™u ‚k[k „ýe yk…u÷k r™»f»kkuo …ife fÞk
r™»f»kkuo rðÄk™ku™u Œkrfof heŒu y™w‚hu Au Œu sýkðku.

rðÄk™ku :  rðÄk™-1  -  ƒÄk ð]ûkku Þtºkku Au.

        rðÄk™-2  -  ƒÄk Þtºkku …wMŒfku Au.

r™»f»kkuo :  r™»f»ko-1  -  ƒÄk Þtºkku ð]ûkku Au.

 r™»f»ko-2  -  ƒÄk ð]ûkku …wMŒfku Au.

Œ{khku sðkƒ ™e[u {wsƒ yk…ku:

(A) {kºk r™»f»ko-1 y™w‚hu Au. (B) {kºk r™»f»ko-2 y™w‚hu Au.

(C) r™»f»ko-1 y™u r™»f»ko-2 ƒLLku y™w‚hu Au. (D) ƒtLku …ife yuf …ý r™»f»ko y™w‚hŒku ™Úke.

095. r™Ëuoþ: Lke[u ƒu rðÄk™ku y™u ƒu r™»f»kkuo yk…ðk{kt ykðu÷ Au. yk…u÷k rðÄk™ku™u ‚k[k „ýe yk…u÷k r™»f»kkuo …ife fÞk
r™»f»kkuo rðÄk™ku™u Œkrfof heŒu y™w‚hu Au Œu sýkðku.

rðÄk™ku :  rðÄk™-1  -  fux÷kf …ýkuo zk¤eyku Au.

        rðÄk™-2  -  fux÷ef zk¤eyku …w»…ku Au.

r™»f»kkuo :  r™»f»ko-1  -  ƒÄk …ýkuo …w»…kuAu.

 r™»f»ko-2  -  fux÷ef zk¤eyku …ýkuo Au.

Œ{khku sðkƒ ™e[u {wsƒ yk…ku:

(A) {kºk r™»f»ko-1 y™w‚hu Au. (B) {kºk r™»f»ko-2 y™w‚hu Au.

(C) r™»f»ko-1 y™u r™»f»ko-2 ƒLLku y™w‚hu Au. (D) ƒtLkuu …ife yuf …ý r™»f»ko y™w‚hŒku ™Úke.

096. ƒu ‚tÏÞkyku™ku ÷.‚k.y. 4641 y™u „w.‚k.y. 21 Au. òu Œu …ife yuf ‚tÏÞk 357 nkuÞ Œku ƒeS ‚tÏÞk fE nþu?

(A) 273 (B) 441

(C) 381 (D) WÃkhLkk Ãkife yufÃký Lknª

097. yuf çkUf{kt [¢ð]rØ ÔÞks™ku ðkr»kof Ëh 10% Au. òu yuf hf{ ºký ð»ko …nu÷k {qfðk{kt ykðe nkuÞ ŒÚkk Œu™wt ÔÞks {wÆ÷
Yk. 46585 nkuÞ Œku Œu {q¤ hf{ fux÷e nþu ?

(A) Yk. 32000 (B) Yk. 32500

(C) Yk. 35000 (D) WÃkhLkk Ãkife yufÃký Lknª

098. yuf ‚{„wýku¥kh ©uýe 4, 2, 1 .... ™wt 7 {wt …Ë fÞwt nþu?

(A) 1/8 (B) 1/16

(C) 1/32 (D) WÃkhLkk Ãkife yufÃký Lknª

099. 1 {exh ÔÞk‚ y™u 7 {exh ô[kE™k ™¤kfkh™wt ½™V¤ fux÷wt Úkþu?

(A) 5.5 ½™ {exh (B) 22 ½™ {exh

(C) 11 ½™ {exh (D) WÃkhLkk Ãkife yufÃký Lknª

100. yuf ‚ktfurŒf ¼k»kk{kt “LIBERTY” ™ku fkuz “2121221” nkuÞ Œku “INDEPENDENCE” ™ku fkuz fÞku Úkþu ?

(A) 122121221211 (B) 112121221221

(C) 122121222112 (D) WÃkhLkk Ãkife yufÃký Lknª
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101. Which of the following statements is/are correct?
(i) Inertia is the property of a body by virtue of which it doesn’t offer resistance to any change

of its state of rest or motion.
(ii) Particle is an idealized body whose size doesn’t affect its response to the forces acting on it.
(iii) As per Principle of Transmissibility, the force can be transferred on any point on its line of

action keeping the same direction, for rigid bodies and deformable bodies.
(iv) Continuum is an idealized body whose matter is assumed to be totally continuous,

homogeneous and porous.
(A) (i), (iii) and (iv) only (B) (ii) and (iii) only
(C) (ii) only (D) None of the above

102. Which of the following forces can’t be a Resultant Force of 150 N and 1050 N?
(A) 850 N (B) 950 N
(C) 1000 N (D) 1050 N

103. While pedaling of a bicycle, the force of friction exerted by the ground on two wheels is such
that it acts
(A) in the backward direction on both the wheels
(B) in the forward direction on both the wheels
(C) in the backward direction on the front wheel and in the forward direction on the rear wheel
(D) in the forward direction on the front wheel and in the backward direction on the rear wheel

104. Axial forces acting in all the columns of a building can be considered under
(A) Collinear Force System
(B) Coplanar Nonconcurrent Parallel Force System
(C) Spatial Concurrent Force System
(D) Spatial Nonconcurrent Force System

105. 1 decimeter =
(A) 10 cm (B) 10 m
(C) 100 m (D) 10 km

106. Resultant force R of 100 N has two components: one component is force P at 20º clockwise of R,
and the other component is force Q at 60º anticlockwise of R. Magnitude of Q
(A) is 50 N (B) is more than 50 N
(C) is less than 50 N (D) cannot be found out, as some data is missing

107. Varignon’s theorem is used to find out
(A) Location of the resultant force
(B) Direction of the resultant force
(C) Magnitude of the resultant force
(D) Magnitude of two unknown forces using the sine of angles between three concurrent forces

108. A prismatic bar of sides 20 mm x 10 mm is subjected to a tensile force of 100 kN. Maximum
Shear Stress generated in the bar is
(A) 500 MPa (B) 250 MPa
(C) 0.5 MPa (D) 0 MPa

109. In terms of Modulus of Rigidity G and Bulk Modulus K, Poisson’s ratio can be expressed as
(A) (3K-4G)/(4G+6K) (B) (3K+4G)/(6K-4G)
(C) (3K-2G)/(2G+6K) (D) (3K+2G)/(6K-2G)
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110. A Composite section made up by placing a steel rod of 40 mm diameter inside a copper tube of
internal diameter 50 mm and external diameter 60 mm, is subjected to tensile force P. Both are
connected by rigid plates at their ends and length of both the members is L. The magnitude of
axial force generated in steel rod doesn’t depend upon
(A) Modulus of Elasticity of both the materials
(B) Length of the section L
(C) Cross-section Area of Steel rod
(D) Cross-section Area of Copper tube

111. Three sections having same cross-sectional area are: (i) a circle (ii) a square with horizontal
base (iii) a triangle with horizontal base and the length of the base same as side of the square.
The relation for their Moment of Inertia (MI) values is
(A) MITriangle > MICircle > MISquare (B) MISquare > MITriangle > MICircle

(C) MITriangle > MISquare > MICircle (D) MICircle > MITriangle > MISquare

112. If the diameter of a circular section is doubled, its Radius of Gyration
(A) is reduced to half (B) remains the same
(C) is doubled (D) is increased by 4 times

113. Which of the following is Unitless?
(A) Stiffness coefficient (B) Coefficient of thermal expansion
(C) Modulus of resilience (D) Volumetric strain

114. Two beams are made of same material and have the same cross-sectional area. The first beam
is having a circular cross-section while the second one is having a square cross-section. If both
the beams are subjected to the same amount of bending moment, then the
(A) maximum bending stress in the circular beam is more than that of the square beam
(B) maximum bending stress in the square beam is more than that of the circular beam
(C) maximum bending stress developed in both the beams is same
(D) maximum deformation in both the beams is same

115. A circular shaft is subjected to a Twisting Moment of 100 kN-m. After the removal of the torque,
if it is subjected to Bending Moment of 100 kN-m, then the ratio of maximum shear stress in the
first case to maximum bending stress in the second case is
(A) 0.25 (B) 0.5
(C) 2 (D) 4

116. For a beam of square cross section, with one diagonal placed horizontally, the ratio of maximum
shear stress to average shear stress is
(A) 3/2 (B) 4/3
(C) 7/6 (D) 9/8

117. Which of the following statements is/are correct for a circular cross section?
(i) When the beam is subjected to flexure, Bending Stress at a section varies linearly along the

depth, with maximum value at the top/bottom fibres and zero at the neutral axis.
(ii) When the shaft is subjected to torsion, Shear Stress at a section varies parabolically along

the depth with maximum value at the neutral axis and zero at the outermost fibres.
(iii) When the beam is subjected to transverse loading, Shear Stress at a section varies linearly

along the depth, with maximum value at the top/bottom fibres and zero at the neutral axis.
(A) Only (i) (B) Only (ii)
(C) (i), (ii) and (iii) (D) None of the above
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118. Maximum shear stress for a rectangular shaft subjected to torsion occurs at
(A) Corner of the section (B) Centroid of the section
(C) Centre point of the shorter side (D) Centre point of the longer side

119. If an element is subjected to two mutually perpendicular unlike equal stresses q, then the radius
of the Mohr’s Circle will be
(A) zero (B) q/2
(C) q (D) 2q

120. If one spring of stiffness 2 N/m is placed inside the other spring of stiffness 4 N/m such that
when the axial force is given, both have same amount of deflection, then the equivalent stiffness
is
(A) 6 N/m (B) 0.75 N/m
(C) 1.33 N/m (D) 3 N/m

121. If the applied load passes through the shear centre of the beam section, then
(A) Bending will not occur (B) Bending will occur without torsion
(C) Bending will occur with torsion (D) There will be neither bending nor torsion

122. The failure theory for which graphical representation is by an ellipse, is
(A) Distortion energy theory (B) Maximum principal stress theory
(C) Maximum shear stress theory (D) Mohr’s theory of failure

123. Diameter of a kernel for hollow circular section having outer diameter 25 mm and inner diameter
5 mm is
(A) 3.25 mm (B) 6.5 mm
(C) 13 mm (D) 15 mm

124. In first case, a simply supported beam of span 10 m is subjected to clockwise moment M at 2 m
distance from the left support. In the second case, the same beam is subjected to same moment
at 6 m distance from the left support. Which of the following statements regarding Shear Force
Diagram (SFD) and Bending Moment Diagram (BMD) for both these cases is correct?
(A) SFD and BMD both for these cases are same
(B) SFD and BMD both for these cases are different
(C) SFD of both the cases are different but BMD are same
(D) SFD of both the cases are same but BMD are different

125. Shear centre of a semi-circular arc of radius r is at
(A) 4r/ (B) 3r/
(C) 2r/ (D) r/

126. Modulus of toughness is the area of the stress-strain diagram upto
(A) Rupture Point (B) Yield Point
(C) Limit of Proportionality (D) Ultimate Point

127. Type of stress that causes dilation is known as
(A) Thermal stress (B) Shear stress
(C) Deviatoric stress (D) Hydrostatic stress

128. The moment diagram for a cantilever whose free end is subjected to a bending moment will
be a
(A) Triangle (B) Rectangle
(C) Parabola (D) Cubic parabola
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129. If the ratio of two principal stresses is ½, what is the ratio of minimum principal stress to
maximum shear stress?
(A) 1/2 (B) 1
(C) 2 (D) 4

130. According to the maximum shear stress failure criterion, yielding in material occurs when
(A) Maximum shear stress = yield stress
(B) Maximum shear stress = half of yield stress
(C) Maximum shear stress = 2 x yield stress
(D) Shear strain crosses the limit of proportionality

131. Match the following lists of Properties and their Characteristics:
 Property                                     Characteristic

a. Endurance Limit 1. Material has a high probability of not failing under reversals
of stress of magnitude below this level

b. Tenacity 2. Material’s ultimate strength in tension
c. Fatigue 3. Material’s decreased resistance to repeated reversals of stress
d. Creep 4. Material continues to deform with time under sustained loading
(A) a - 1,  b - 2,  c - 3,  d - 4 (B) a - 2,  b - 1,  c - 3,  d - 4
(C) a - 1,  b - 2,  c - 4,  d - 3 (D) a - 2,  b - 1,  c - 4,  d - 3

132. Shape of Bending Moment Diagram for the given beam will be

(A) (B) 

(C) (D) 

133. What is the distance of point of contraflexure from the midpoint in a Fixed Beam subjected to
UDL throughout the span?
(A) 0.211L (B) 0.257L
(C) 0.289L (D) 0.353L

134. Force in member AB for the given truss system is

(A) 20 kN Compressive (B) 40 kN Tensile
(C) 40 kN Compressive (D) zero
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135. Which of the following statements is not correct for deflection at mid-point of simply supported
beam subjected to UDL throughout the span?
(A) Deflection is decreased by increasing Moment of Inertia of the section.
(B) Deflection is increased by increasing span of the beam.
(C) Deflection is decreased by decreasing amount of load.
(D) Deflection is decreased by decreasing Modulus of Elasticity of the material.

136. Maximum Bending Moment due to a train of wheel loads on a simply supported girder always
occurs
(A) at centre of the span
(B) under a wheel load
(C) under the resultant of wheel loads
(D) at mid way between the wheel load under consideration and resultant of all wheel loads

137. With respect to Matrix methods of analysis, which of the following statement is incorrect?
(A) For stable structures, coefficients on principal diagonal of Stiffness matrix and Flexibility

matrix are always positive.
(B) Stiffness method is more suitable than Flexibility method for computer programing.
(C) For stable equilibrium of a structure, stiffness matrix is singular.
(D) Number of redundants in Flexibility method is equal to Static Indeterminacy (SI) of the

structure, and the same in Stiffness method is equal to Kinematic Indeterminacy (KI) of
the structure.

138. Effective cover of RCC beam depends on
(A) Diameter of the main reinforcement (B) Grade of the reinforcing steel
(C) Grade of the concrete (D) Width of beam

139. For RCC beam, the ratio of strength of shear reinforcement Vus to effective depth d of beam
depends upon
(i) Cross-sectional area of stirrup legs
(ii) Grade of steel
(iii) Spacing of shear reinforcement
(A) Only (i) (B) (i) and (ii)
(C) (ii) and (iii) (D) (i), (ii), (iii)

140. A short column of size 600 mm x 450 mm is subjected a service axial load of 2000 kN. Longitudinal
bars of 25 mm are used. According to IS 456:2000, minimum diameter of the lateral ties to be
provide is
(A) 6 mm (B) 8 mm
(C) 10 mm (D) 12 mm

141. As per IS 456:2000, thickness at the edge for footings on piles shall not be less than _______
above the tops of piles.
(A) 150 mm (B) 250 mm
(C) 300 mm (D) 450 mm

142. Plates with punched holes
(A) have lower strength than the plates with drilled holes
(B) have same strength as the plates with drilled holes
(C) have higher strength than the plates with drilled holes
(D) can have higher, same or less strength compared to the plates with drilled holes depending

on the temperature at the time of process.
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143. When Moment Resistant Bolted connection is subjected to eccentric load lying perpendicular
to the plane of the bolted joint, it causes:
(A) only tension in the bolts (B) only shear along two directions of the bolts
(C) bending and tension in the bolts (D) tension and shear in the bolts

144. Strength of the bolt in bearing doesn’t depend upon the
(A) Nominal diameter of the bolt (B) Diameter of the bolt hole
(C) Length of the bolt (D) Pitch distance

145. The amount of energy released during the earthquake of Richter Magnitude 5 is approximately
_______ times that of earthquake of Richter Magnitude 3.
(A) 31 (B) 100
(C) 1000 (D) 10000

146. P-waves occurred due to an earthquake can travel through
(A) liquids but not through solids (B) solids but not through liquids
(C) both liquids and solids (D) neither liquids nor solids

147. The highest magnitude of earthquake recorded on the earth till 2019 is assigned to
(A) 2011 Tohoku Earthquake
(B) 1964 Great Alaska Earthquake
(C) 2004 Sumatra-Andaman Islands Earthquake
(D) 1960 Chilean earthquake

148. As per IS 13920:2016, minimum grade of structural concrete for 20 m high building in zone V
shall be
(A) M20 (B) M25
(C) M30 (D) M35

149. The ratio of maximum displacement of the forced vibration to the deflection due to static force
is known as
(A) Damping coefficient (B) Damping factor
(C) Logarithmic decrement (D) Magnification factor

150. The carry over factor in the following case is

(A) 0 (B) 0.5
(C) 1 (D) None of the above

151. For the given Shear Force Diagram of a beam, the Bending Moment in part BC

(A) is zero (B) is non-zero and constant
(C) varies linearly from B to C (D) varies parabolically from B to C

152. The Resultant force of two forces P and 2P, is perpendicular to force P. What is the angle
between forces P and 2P?
(A) 120º (B) 133.5º
(C) 150º (D) it depends on value of P
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153. A uniform beam of length 2L and flexural rigidity EI/2 is fixed at both ends. What is the moment
required for unit rotation at centre of the span?
(A) EI/L (B) 2EI/L
(C) 3EI/L (D) 4EI/L

154. A beam of uniform strength has at every cross-section same
(A) bending moment (B) bending stress
(C) deflection (D) stiffness

155. Due to rise in temperature in a three hinged arch, induced stress is
(A) direct compressive (B) direct tensile
(C) shear (D) none of the above

156. During the manufacturing process of the Portland cement, gypsum is added to
(A) decrease the rate of setting of cement (B) increase the tensile strength of cement
(C) bind the particles of calcium silicate (D) facilitate the formation of colloidal gel

157. Bouge’s compound responsible for flash set is
(A) Tricalcium Silicate (B) Dicalcium Silicate
(C) Tricalcium Aluminate (D) Tetracalcium Aluminoferrite

158. Specific gravity of fine aggregates used in concrete is about
(A) 2.7 (B) 3.0
(C) 3.2 (D) 3.4

159. The device used to determine normal consistency of cement is
(A) Kelly Ball (B) Le-Chatelier apparatus
(C) Vicat apparatus (D) Slump cone apparatus

160. Which of the following aggregates gives maximum concrete strength?
(A) Cubical aggregate (B) Elongated aggregate
(C) Rounded aggregate (D) Flaky aggregate

161. While adopting hand mixing of concrete, the extra cement to be added is
(A) 2.5% (B) 3%
(C) 5% (D) 10%

162. For the same moisture content, bulking of sand is highest in
(A) Sand with fine grading (B) Sand with medium grading
(C) Sand with coarse grading (D) Gravelly sand

163. Workability of concrete is directly proportional to
(A) Roughness of surface texture (B) Grading of the aggregate
(C) Aggregate/cement ratio (D) Water/cement ratio

164. Which one of the following statements is incorrect?
(A) Using mortar pan for transporting concrete in drying conditions has the disadvantage that

it exposes greater surface area of concrete and results in greater loss of water.
(B) Ramming should not be permitted in case of upper floor construction.
(C) Compaction by pressure and jolting is ineffective method for compacting very dry concrete.
(D) Compaction by spinning is adopted for fabrication of concrete pipes.

165. Which of the following tests use the machine which can be used for measuring both the
compressive strength and the splitting strength of concrete?
(A) Brazilian test (B) Double punch test
(C) Ring tension test (D) Compaction factor test
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166. Almost 2/3 of the strength of concrete is attained in
(A) 1 day (B) 3 days
(C) 7 days (D) 14 days

167. Match the following lists:
 Non-destructive test  Purpose of test

a. Radio activity test 1. to determine moisture content of concrete
b. Magnetic methods 2. to measure depth of reinforcement cover
c. Neutron activation analysis 3. to measure density and thickness of concrete
d. Neutron scattering test 4. to determine cement content

(A) a - 3,  b - 2,  c - 4,  d - 1 (B) a - 2,  b - 1,  c - 3,  d - 4
(C) a - 1,  b - 2,  c - 4,  d - 3 (A) a - 2,  b - 1,  c - 4,  d - 3

168. As per IS 456:2000, the minimum grade of concrete in reinforced concrete work is
(A) M10 (B) M15
(C) M20 (D) M25

169. As per IS 456:2000, the pH of water used for mixing and curing shall not be less than
(A) 5.5 (B) 6.0
(C) 6.5 (D) 7.0

170. As per IS 456:2000, the slump for concrete to be used in slipform work and in pumped concrete
is
(A) 50-75 mm (B) 75-100 mm
(C) 100-125 mm (D) 125-150 mm

171. If CaCl2 is added to the concrete, it will act as a/an
(A) plasticizer (B) accelerator
(C) retarder (D) air entraining agent

172. In Cylinder Splitting Tension test, if P is compressive load on the cylinder of length L and
diameter D, expression for split tensile strength is
(A) P/(LD) (B) P/(2LD)
(C) 2P/(LD) (D) P/(4LD)

173. To determine the modulus of rupture, the size of the test specimen used is
(A) 100 mm × 100 mm × 500 mm (B) 150 mm × 150 mm × 500 mm
(C) 100 mm × 100 mm × 700 mm (D) 150 mm × 150 mm × 700 mm

174. Poisson’s ratio for concrete generally varies between
(A) 0.05 – 0.15 (B) 0.15 – 0.25
(C) 0.25 – 0.50 (D) 0.50 – 0.80

175. According to the Indian Standards, the limit of loss on ignition for Ordinary Portland Cement
(53 Grade) in percent by Mass is
(A) 3% (B) 4%
(C) 5% (D) 6%

176. A scale for a map is given as 1/100000. The scale can be represented as 1 cm =
(A) 100 m (B) 1000 m
(C) 10000 m (D) 100000 m
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177. The last count of a vernier is the
(A) value of the division of the main scale
(B) value of division of the vernier scale
(C) sum of values of one vernier scale and one main scale divisions
(D) difference between the values of one main scale division and one vernier scale division

178. Chromatic aberration is reduced in a telescope by using
(A) a convex lens
(B) a concave lens
(C) a compound lens of convex and concave lens
(D) two convex lenses

179. In an optical square, the two mirrors are placed at an angle of
(A) 30° (B) 45°
(C) 60° (D) 90°

180. Magnetic declination enables us to
(A) find true bearing of lines
(B) determine the correct functioning of magnetic needle
(C) test and adjust a prismatic compass
(D) find local attraction at a place

181. Magnetic bearing of a line is found as 35°45'. If the declination is 3°45' E, true bearing is
(A) 39°30' (B) 32°45'
(C) 32°00' (D) 3°45'

182. Focussing the objective lens is an operation done every time
(A) to clearly see the cross hairs (B) to focus the object being sighted
(C) for reading the vernier clearly (D) for reading the vertical angles

183. A plane table is oriented by the
(A) method radiation (B) method of intersection
(C) method of back sighting (D) method of fore sighting

184. The longitude of a line is
(A) the average longitude in which the line lies
(B) the projection of the line on the north-south meridian
(C) the projection of the line on the east-west meridian
(D) the projection of the line on the true meridian

185. Two consecutive readings in the levelling data are 1.455 m and 1.875 m. The first is a foresight
and the second is a backsight. Then
(A) the fall from the first point to second point is 0.42 m
(B) the rise from the first point to the second point is 0.42 m
(C) the two readings are taken from the same instrument station
(D) the two readings are taken at the same point from two different instrument stations

186. The correction for refraction and curvature is _______ and _______ respectively
(A) positive, negative (B) negative, positive
(C) positive, positive (D) negative, negative
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187. Reciprocal levelling is a method of levelling that eliminates the error due to
(A) Inclination of line of collimation
(B) curvature
(C) curvature and refraction
(D) curvature, refraction and inclination of line of collimation

188. When you have to cross a water body while performing levelling operations, then the best
method is
(A) fly levelling (B) reciprocal levelling
(C) profile levelling (D) differential levelling

189. One hectare is equal to
(A) 100 m2 (B) 1000 m2

(C) 10000 m2 (D) 1000000 m2

190. For calculating the area, Trapezoidal rule can be applied
(A) only when the number of offsets are even
(B) only when the number of offsets are odd
(C) irrespective of the number of offsets being odd or even
(D) only when the offsets do not differ very much in value

191. Zero circle with reference to a planimeter is (M is the Multiplying constant and C is the additive
constant)
(A) the additive constant C (B) the multiplying constant M
(C) the constant given by M / C (D) the constant given by M × C

192. If we draw contour lines of a plane surface, they will appear as
(A) curved lines spaced far apart
(B) curved closed lines
(C) straight lines uniformly spaced
(D) straight lines inclined at an able to the edges of the surface

193. A contour line
(A) cannot split and continue in different directions
(B) can split and continue in different directions
(C) can split but continue in two directions only
(D) can split but has to return to meet again

194. A mass-haul diagram is a diagram showing
(A) the amount of cutting and filling along the length
(B) the longitudinal section of the site
(C) the cross section of the site
(D) the cumulative volume of cutting and filling along the length

195. The eidograph is used for
(A) drawing profiles of the ground (B) reducing or enlarging plans
(C) drawing cross sections (D) drawing lines on the plane table

196. The two-peg test is used to ensure that
(A) the axis of bubble tube is perpendicular to the vertical axis
(B) the line of collimation is parallel to the bubble tube axis
(C) the horizontal cross hairs is in a plane perpendicular to the vertical axis
(D) the horizontal cross hair is parallel to the bubble tube axis
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197. Vertical control in surveying means
(A) using precise levelling instruments
(B) measuring vertical angles accurately
(C) establishing accurately the benchmarks
(D) establishing contour lines

198. Stadia-tacheometry is based on the principle that
(A) trigonometrical formulae can be used to calculate distances from vertical angles
(B) intercepts on measuring rods are proportional to the distance
(C) horizontal distances vary linearly as vertical angles
(D) knowing the side and two angles of a triangle, another side can be calculated

199. The multiplying constant in the distance formula by tacheometry is given by
(A) focal length of objective lens divided by the distance between the stadia wires
(B) focal length of the objective lens multiplied by the distance between the stadia wires
(C) distance between the stadia wires divided by the focal length of objective lens
(D) distance between the stadia wires multiplied by the focal length of objective lens

200. Agonic line is the line joining points having
(A) zero declination (B) minimum declination
(C) maximum declination (D) same declination

201. Alluvial soils are the soils that are
(A) transported by wind (B) transportation by running water
(C) deposited at the bottom of lakes (D) deposited in the sea

202. A soil has a liquid limit of 50% and plasticity index of 30%. The plastic limit of thesoil will be
(A) 20% (B) 35%
(C) 55% (D) 80%

203. In a wet soil mass, air occupies 1/6th of its volume and water occupies 1/3rd of it volume. The
void ratio of the soil is
(A) 0.25 (B) 0.50
(C) 0.75 (D) 1.0

204. The natural water content of the soil sample was found to be 25%, specific gravity to be 2.7 and
void ratio was 1.5. Estimate the degree of saturation of the soil
(A) 13.8% (B) 16.2%
(C) 30.0% (D) 45.0%

205. A well graded sand should have
(i) uniformity coefficient greater 6
(ii) coefficient of curvature between 1-3
(A) Only (i) (B) Only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

206. Oedometer is used for carrying out for assessing which of the soil parameter?
(A) Compressibility (B) Permeability
(C) Specific gravity (D) Particle size analysis

207. The governing law for the Flow of Water in soil is
(A) Stoke’s law (B) Darcy’s law
(C) Bernoulli’s law (D) Froude’s law
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208. If the number of drainage faces in responding soils is doubled, then the rate of compression
would become

(A) 2 times faster (B) 2 times slower
(C) 4 times faster (D) 4 times slower

209. Coarse grained soils are best compacted by a
(A) drum roller (B) rubber tyred roller

(C) sheep’s foot roller (D) vibratory roller
210. For better strength and stability, the fine grained soils and coarse grained soils are compacted

respectively as (where OMC is Optimum Moisture Content)
(A) Dry of OMC and Wet of OMC (B) Wet of OMC and Dry of OMC
(C) Wet of OMC and Wet of OMC (D) Dry of OMC and Dry of OMC

211. Skempton’s Pore Pressure coefficient B for dry soil is
(A) 1 (B) 0
(C) between 0 – 1 (D) greater than 1

212. The angle that Coulomb’s failure envelope makes with the horizontal is called

(A) angle of cohesion (B) angle of internal friction
(C) angle of repose (D) angle of deformation

213. The coefficient of active earth pressure for a loose sand having an angle of internal friction of
30° is
(A) 1/3 (B) 1/2

(C) 1 (D) 3
214. Rise of water table in cohesionless soils upto ground surface reduces the net ultimate bearing

capacity approximately by
(A) 25% (B) 50%
(C) 75% (D) 90%

215. According to the IS specifications, the minimum depth of foundation in sand and clay should be
respectively
(A) 600 mm and 700 mm (B) 800 mm and 900 mm
(C) 1000 mm and 900 mm (D) 1200 mm and 1000 mm

216. Negative skin friction on a pile

(A) acts downwards and increases the load carrying capacity of the pile
(B) acts upwards and increases the load carrying capacity of the pile
(C) acts downwards and decreases the load carrying capacity of the pile
(D) acts upwards and decreases the load carrying capacity of the pile

217. Lime stabilization is very effective in treating
(A) sandy soils (B) silty soils
(C) non-plastic soils (D) plastic clayey soils

218. As per Meyerhof, the value of bearing capacity factor for cohesion Nc for piles is taken as

(A) 5.14 (B) 5.17
(C) 6.20 (D) 9.0
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219. The soils most susceptible to liquefaction are
(A) saturated dense sands
(B) saturated fine and medium sands of uniform particle size
(C) saturated clays of uniform size
(D) saturated gravels and cobbles

220. A soil having particles of nearly the same size is known as
(A) well graded (B) uniformly graded
(C) poorly graded (D) gap graded

221. Sensitivity of a soil can be defined as
(A) percentage of volume change of soil under saturated condition
(B) ratio of the comprehensive strength of undisturbed soil to that of the soil in a remoulded

state
(C) ratio of comprehensive strength of the soil in a remoulded state to that of the undisturbed

soil
(D) ratio of volume of voids to volume of solids

222. Taylor’s stability number Sn is equal to (where C = cohesion, Fc = Factor of safety,  = density of
soil, H = height of the slope)
(A) C / Fc  H (B) C / H 
(C) C / Fc H (D) C Fc / H

223. The ultimate bearing capacity of a square footing on a surface of a saturated clay having
unconfined compression strength of 50 kN / m2 using Skempton’s equation is
(A) 125 kN / m2 (B) 150 kN / m2

(C) 250 kN / m2 (D) 300 kN / m2

224. The bearing capacity factor Nc, Nq and N are functions of
(A) width and depth of the footing (B) density of soil
(C) cohesion of the soil (D) angle of internal friction of soil

225. Swedish circle method of stability of slopes is also known as
(A) method of slices (B) method of wedges
(C) sliding mass method (D) friction circle method

226. Californian Bearing Ratio (CBR) is used
(A) for calculating the stress deformation characteristics
(B) to evaluate the subgrade strength of roads and pavements
(C) to evaluate the safe load bearing capacity of soil
(D) to estimate the net load bearing capacity of soil

227. Which of the following assumption was not made by Rankine for the derivation of the earth
pressure
(A) The soil mass is homogenous and semi-infinite
(B) The soil is saturated and cohesionless
(C) The back of the retaining wall is smooth and vertical
(D) The soil element is in a state of plastic equilibrium

228. At depth Zc, also know as depth of tensile crack, the tensile stress is
(A) maximum (B) minimum
(C) zero (D) equal to soil bearing capacity
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229. Cofferdam is a
(A) temporary structure built to enclose an area for excavation of foundation
(B) temporary structures built to divert the water
(C) permanent structure built to enclose an area for excavation of foundation
(D) small dam constructed across a drainage ditch, swale, or channel to lower the velocity of

flow
230. If Si = Elastic Settlement, Sc = Consolidation Settlement and Ss = Secondary Consolidation

Settlement, then total Settlement S can be computed as
(A) S = Si + Sc +Ss (B) S = Sc - Si +Ss

(C) S = Si - Sc +Ss (D) S = Ss - Si + Sc

231. As per Bowle’s equation, the net allowable pressure given by Meyerhof’s equation can be
increased by
(A) 25% (B) 50%
(C) 75% (D) 100%

232. In a Plate Load Test, generally the load is applied in increments of
(A) 05% of the ultimate load (B) 10% of the estimated safe load
(C) 20% of the estimated safe load (D) 30% of the  estimated safe load

233. In a Plate Load Test, it is not practicable to provide a reaction of more than
(A) 250 kN (B) 500 kN
(C) 750 kN (D) 1000 kN

234. Which of the following points should be considered while deciding the depth of the footings
(i) Depth of top soil
(ii) Frost Depth
(iii) Water Table
(iv) Adjacent footings
(A) Only (i) (B) (i) and (ii)
(C) (i), (ii) and (iii) (D) (i), (ii), (iii) and (iv)

235. Trapezoidal footings are provided
(A) to avoid eccentricity of loading with respect to the base
(B) when the distance between the two columns is so large that a combined footing becomes

long and narrow
(C) when the loads are very heavy and the soil is highly compressible
(D) when the column loads are relatively light and the spacing of columns is relatively small and

uniform
236. Which of the following formations does not contain any groundwater?

(A) Aquifer (B) Aquifuge
(C) Aquitard (D) Aquiclude

237. A geological formation which may contain water but is essentially impermeable to the flow of
water through it is known as
(A) Aquifer (B) Aquifuge
(C) Aquitard (D) Aquiclude

238. Water existing in capillary zone is a part of
(A) phreatic water (B) ground water
(C) gravity water (D) vadose water
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239. The surface obtained by joining the water levels in several observation well penetrating a confined
aquifer represents a
(A) piezometric surface (B) water table
(C) capillary frinze (D) cone of depression

240. In case of a flowing well, the peizometric surface is
(A) below the ground level
(B) above the ground level
(C) between the ground level and water surface in the well
(D) below the water surface in the well

241. The ratio of the volume of water retained by the formation to the volume of water of the formation
when it is freely drained is known as
(A) specific yield (B) specific retention
(C) specific storage (D) porosity

242. An aquifer which is underlain by an impermeable layer at the bottom and not confined at the
top is known as
(A) confined aquifer (B) unconfined aquifer
(C) semi confined aquifer (D) perched aquifer

243. If the water table of an unconfined aquifer intersects a surface stream, then aquifer contributes
water to the stream. Such a stream is called as
(A) an effluent stream (B) an influent stream
(C) an ephemeral stream (D) a perennial stream

244. Darcy’s law for groundwater movement states that the velocity is proportional to
(A) the hydraulic gradient (B) the square of the hydraulic gradient
(C) the logarithm of the hydraulic gradient (D) the reciprocal of the hydraulic gradient

245. A laboratory test on a sample from an aquifer revealed that its porosity is 20%. The specific
yield of the aquifer would be
(A) more than 0.20 (B) equal 0.20
(C) less than 0.20 (D) difficult to predict due of lack of other data

246. The upper limit of Reynold’s number for the Darcy’s law to be valid for groundwater flow is
(A) 0.1 (B) 1
(C) 10 (D) 50

247. Radius of influence is the horizontal distance between the centre of the pumped well and
(A) a point on the cone of depression of maximum drawdown
(B) a point on the cone of depression with minimum drawdown
(C) a point on the cone of depression of zero drawdown
(D) the nearest surface water body

248. The unit of the transmissivity of aquifer is
(A) m / day (B) m2 / day
(C) m3 / day (D) day / m2

249. The equation for the steady state radial flow to a well was first developed by
(A) Darcy (B) Theis
(C) Dupuit (D) Jacob
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250. The safe depression head for open well is generally taken to be _______ of the critical head
depression head
(A) 1/3 (B) 1/2
(C) 2/3 (D) 3/4

251. For an unconfined aquifer, the Storage coefficient S is defined as the volume of water than an
aquifer takes into storage _______
(A) per unit surface area of the aquifer
(B) per unit drop of water table
(C) per unit surface area of the aquifer per unit drop of water table
(D) per unit drop of piezometric surface

252. The property ‘intrinsic permeability’ is used in
(i) Groundwater studies
(ii) Petroleum Studies
(A) Only (i) (B) Only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

253. Hydraulic conductivity can be measured in a laboratory using
(A) Permeameter (B) Piezometer
(C) Extensometers (D) Penetrometer

254. The zone below the water table is called as
(A) vadose zone (B) perched zone
(C) artesian zone (D) phreatic zone

255. The storage coefficient of an unconfined aquifer is usually in the range of
(A) 0.00001 – 0.0001 (B) 0.0001 – 0.001
(C) 0.001 – 0.01 (D) 0.01 – 0.1

256. In the Pumping Test done, the water level in the well is depressed through large withdrawals of
water till _______ is reached.
(A) Critical depression head (B) minimum depression head
(C) maximum depression head (D) working head

257. In a reservoir, the useful storage is the volume of water stored between
(A) minimum pool level and maximum pool level
(B) minimum pool level and normal pool level
(C) normal pool level and maximum pool level
(D) river bed and minimum pool level

258. Trap efficiency of a reservoir is a function of
(A) capacity / inflow ratio (B) capacity / outflow ratio
(C) outflow / inflow ratio (D) inflow / outflow ratio

259. The forces which are considered for the analysis of an elementary profile of a gravity dam
under empty reservoir condition are
(i) Self-weight
(ii) Water Pressure
(iii) Uplift Pressure
(iv) Earthquake pressure
(A) Only (i) (B) (i) and (ii)
(C) (i) and (iv) (D) (i), (ii), (iii) and (iv)
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260. In a dam, hydrodynamic pressure due to earthquake acts at a height of

(A) 3H / 4  above the base (B) 3H / 4  below the water surface

(C) 4H / 3  above the base (D) 4H / 3  below the water surface

261. The major resisting force in a gravity dam is

(A) Self weight (B) Water pressure

(C) Uplift pressure (D) Wave pressure

262. When the reservoir is full, the maximum comprehensive force in a gravity dam is produced
(A) at the toe (B) at the heel

(C) within the middle third of the base (D) at the centre of the base

263. Seepage through embankments in an earthen dam can be controlled by providing

(A) drainage filter (B) relief wells

(C) drain trenches (D) downstream berms

264. The discharge passing over an ogee spillway is given by (where C = coefficient of discharge, L =
effective length of a spillway crest, H = total head over the spillway crest including the velocity
head)

(A) CLH1/2 (B) CLH3/2

(C) CHL1/2 (D) CHL3/2

265. Which of the following spillways is most suitable for an earthen dam

(A) Ogee spillway (B) Chute spillway

(C) Shaft spillway (D) Siphon spillway

266. A canal which is aligned at right angles to the contour is called

(A) contour canal (B) ridge canal

(C) side slope canal (D) water shed canal

267. Garret’s diagram are based on

(A) Kennedy’s theory (B) Lacey’s theory
(C) Kholsa’s theory (D) Bligh’s theory

268. In a chute spillway, the flow is usually

(A) uniform (B) subcritical

(C) critical (D) super critical

269. The maximum permissible eccentricity for no tension at the base of a gravity dam is

(A) B / 2 (B) B / 3

(C) B / 4 (D) B / 6

270. The main function of canal drop as a control structure is to
(A) control the flow depth (B) control the bed grade

(C) control the discharge (D) remove the excess water from the canal

271. Value of a machinery realised on sale when its useful span of life is over but is has not become
useless

(A) Book value (B) Scrap value

(C) Junk value (D) Salvage value
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272. Out of a number of methods available to determine depreciation, which of the following are in
vogue
(i) Sinking Fund Method
(ii) Straight Line Method
(iii) Written Down Value Method
(A) Only (i) (B) Only (ii)
(C) (i), (iii) (D) (i), (ii) and (iii)

273. The principle of valuation that ‘the market value should be determined not necessarily
accordingly to  its present disposition but laid out in the most lucrative and advantageous way
in which the owner can dispose it’ belongs to
(A) Hypothetical Building Scheme (B) True Building Scheme
(C) Hypothetical Market Scheme (D) True Market Scheme

274. The general layout of the site drawn as a line diagram to a small scale with the surrounding
plots of land and adjoining roads is called as
(A) Site Plan (B) Layout Plan
(C) Index Plan (D) Key Plan

275. The critical path consists of
(A) the longest sequence of activities from project start to finish
(B) the sequence of the most important activities
(C) the sequence of the activities susceptible for highest risk
(D) the sequence of the activities having the maximum expenditures

276. The time with which direct cost does not reduce with the increase in time is known as
(A) crash time (B) normal time
(C) optimistic time (D) standard time

277. Free float is mainly used to
(A) Identify the activities which can be delayed without affecting the total float of preceding

activity
(B) Identify the activities, which can be delayed without affecting the total float of succeeding

activity
(C) Establish priorities
(D) Identify the activities which can be delayed without affecting the total float of either the

preceding or succeeding activities
278. Total float for any activity is defined as the difference between

(A) Its latest finish time and earliest start time for its successor activity
(B) Its latest start time and earliest finish time
(C) Its latest start time and earliest start time
(D) Its earliest finish time and earliest start time for its successor activity

279. Site order book is used for recording
(A) instructions of the Executive Engineer (B) construction measurements
(C) requisition of equipments (D) indents for materials to be ordered

280. The system of organization introduced by F. W. Taylor is known as
(A) Effective Organization (B) Functional Organization
(C) Line and staff organization (D) Line organization
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281. Mobilization advance is given to a contractor
(A) after finalization of the contract document to start all activities at the site
(B) before finalization of the contract document to prepare the Detailed Project Report
(C) on commencement of the work at site to repay the loan taken by him
(D) on commencement of the work to pay the salaries of the labourers

282. Security deposit deducted from the contract’s bill
(A) is refunded after when the defect liability period of 6 months or one monsoon, whichever is

later, is over.
(B) can be used for payment of salaries during an emergency condition
(C) is refunded when the contractor has completed the work satisfactorily
(D) is refunded after the life span of the structure

283. Which of the following shall not be included in the computation of the plinth area
(i) Area of loft
(ii) Balcony
(iii) Cantilevered porch
(A) Only (i) (B) (i) and (ii)
(C) (ii) and (iii) (D) (i), (ii) and (iii)

284. Latest start of an activity is always
(A) Greater than or equal to latest event time of preceding node
(B) less than or equal to latest event time of preceding node
(C) equal to latest event time of preceding node
(D) less than latest event time of preceding node

285. Preliminary project report for a road project must contain
(A) soil survey, traffic survey, concept design and approximate cost
(B) the detailed estimated cost based on detailed design
(C) the details of the several alternatives of the project that were considered
(D) contract documents for inviting tender

286. In Building planning, Roominess means
(A) getting maximum advantage from the minimum dimension of the room
(B) getting maximum advantage from the maximum dimension of the room
(C) getting minimum advantage from the minimum dimension of the room
(D) getting minimum advantage from the maximum dimension of the room

287. In architecture, a daylight factor (DF) is the ratio of
(A) the light level inside a structure to the light level outside the structure.
(B) the light level outside the structure to the light level inside a structure.
(C) the light level generated by the artificial sources to that of the natural sources
(D) the light level generated by the natural sources to that of the artificial sources

288. For normal office work, study, library and kitchens the recommended illuminance (in Lux) is
(A) 100 – 200 (B) 200 – 400
(C) 500 – 600 (D) 1000 – 1200
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289. In _______ the object is turned to make three sides visible and in such a way that they should lie
on three equally divided axes cut about a centre
(A) Isometric drawing (B) Oblique drawing
(C) Perspective drawing (D) Axonometric drawing

290. In one-point perspective drawing,
(A) the two sides of the object are parallel to the picture plan and the remaining sides are

perpendicular to the picture plane
(B) all the sides of the object are parallel to the picture plane
(C) all the sides of the object are perpendicular to the picture plane
(D) the two sides of the object are inclined to the picture plane

291. Which of the following is carried out by the two theodolite method?
(A) Circular curve ranging (B) Tacheometric survey
(C) Geodetic Survey (D) Reciprocal Survey

292. The intercept of a staff
(A) is maximum if the staff is held truly normal to the line of sight.
(B) is minimum if the staff is held truly normal to the line of sight
(C) decreases if the staff is tilted away from normal
(D) increases if the staff is tilted towards normal

293. As per the Gujarat Comprehensive Development Control Regulations – 2017, all buildings shall
be provided with minimum _______trees per every 200 sq mt area
(A) 03 (B) 10
(C) 15 (D) 20

294. Offsets are
(A) short measurement from chain line
(B) ties or check lines which are perpendicular to chain line
(C) set of minor instruments in chain surveying
(D) chain lines which go out of alignment

295. As per the Gujarat Comprehensive Development Control Regulations – 2017, the minimum
clearance of _______ meters shall be provided between the boundary of water bodies such as
lake, canal and building or part there of.
(A) 50 (B) 30
(C) 15 (D) 09

296. As per Model Building Bye-Laws, 2016, for a commercial area the permissible equivalent car
spaces (ECS) per 100 sq m of floor area is
(A) 1.8 (B) 2.0
(C) 3.0 (D) 4.0

297. In a ramped approach, the maximum gradient permissible is
(A) 1:6 (B) 1:12
(C) 1:18 (D) 1:24

298. Fire escape stairs shall have straight flight not less than _______ cm wide with _______ cm
treads and risers not more than _______ cm
(A) 250, 50, 38 (B) 125, 25, 19
(C) 100, 25, 19 (D) 100, 12, 09
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299. As per Model Building Bye-Laws, 2016, in a high-rise building, for the peripheral open spaces
including set backs, there shall be a space of _______ all around upto 40 m height and after that
a space of _______ all around should be provided
(A) 6 m, 6 m (B) 6 m, 9 m
(C) 9 m, 6 m (D) 9 m, 9 m

300. Direct method of contouring is
(A) a quick method of contouring (B) the most accurate method of contouring
(C) adopted for large surveys only (D) suitable for hilly terrains
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